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11.2 
(a) 

R = 1 and H = 0 cannot occur at the same time. 

(b) 

 

(c) 

  

11.4 See p. 752 in the textbook 

 

11.6 
(a) 

  

(b) See p. 752 in the textbook 

   

11.9 See p. 753 in the textbook 
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11.12 
 For circuit (a) and (b), 

  

When S = R = 1, in (a), both outputs are 1, and in (b), the latch holds its state. 

When S = R = 0, both Q in (a) and (b) will holding it’s state.  

When S = 0, R = 1, both Q in (a) and (b) will be set to 0. 

When S = 1, R = 0, both Q in (a) and (b) will be set to 1.  
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